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WD 2 WIHFEAO T O EZ KD X,

(1) x245x+1=0 (2) 4x*—4x+1=0
(4) 9x2+12x+4=0 (5) 3x2+x—1=0
(7) 2*4+7x+8=0 8) x2—4x+5=0

WD 2WEED 7T 7 & x O HLE FOEEZ KD L,
1) y=22—3x+1 @ y=22+6x+9
@) y=—2x74x+1 (5) y=—22+4x—9
(7 y=x*—3x2+1 ®) y=2x24+2x+2

(3) 3x2—5x+3=0
6) —x%45x—7=0
(9) 5x2—3x—1=0

(3) y=3x2+4x+2
6) y=—4x2—-12x—9
©) y=—x2+dx—2

WOFMEET-T L 510, TRENER m, a ODEOHPIZED X,
1) 2WHFBA 224324+ m=00357205 2 SOEEMFE LD,

2WHTRI 22— dx —m =0 NEHIRE L7720,

2 IR 32 +6x4-2m — 1 =0 NEHKSE Lo,

2 KRR 22 +5x+m=0 PRS2 DOEHME O,

2RISR 222 —3x+m — 1 =0 NEHME L1272\,

2R ITRER x4 2ma+ 3= 003 K ELfig % b0,

2R B+ ma+ m =00 KR % o,

2R 22— 2mx —dm = 0EEfRE L 12720,

2R AR 22+ (a+Dx+3a+1) =0 WEKMRE & 72720,
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[4] kKO&MZWTT LSS, EHom, o, kOBOHME, ThENED L, [B] ko 2 kHRABEME oL I 1T, ERom OfEED L, £, £OLEOEME
(1) 2WEsK y=x2+5x4m DT TH x e Bre 5 2 HTRD B, kb L.
(2) 2B y=22—4x4+m OV F T xdh L LA EE LT, (1) 3x2—8x+m=0 @) 4+ (m—1x+1=0
(B) 2% y=2x2+3x—2m+1 D/ T 7R x & EHEE B, 3) mx*—dmx+2m+4=0 @ x*—3x+k=0
@) y=222+4x+a DT 7H xilil & A LHE B, 5) 2x%+(k+1)x+2=0 6) *°+2x+m—3=0
6) y=—x=3x4+2a DV FT7H 2 WL LEFLEEBIZR, 0 x*+4mx+25=0 8) 4x’+(m+2)x+m—1=0
6) y=22—2kx+3k 7N xlih L B EE SO,
(7) 2B y=22—2mx+2m+3 DY T 7 x WL ILHHEE O,
(8) 2B y=22+2mx—m+2 D75 7N xih& G EE B2,
©) 2WBE y=22+mx—m DU T TR 2 ik A EE B,
(

10) 2B y=2"+mx+1 D/ 5 7R x Wb B s 2 Haith 5,
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[6] kD 2B D 7 T 778 x WCHeT 5 K51, EHfom, a OEZRED L, E1e,
& ORERDOFEREZ RD K,
1) y=x*+2mx+m+2 @ y=x>—/5 x+m>+2m

(3) y=x*4+mx+m+3 @) y=x’+4x+a

B) y=x"+mzx+1 6) y=x*—2mx+m

TDE

WD 2WAREXOMBTRTOERTHD L&, Thom, a DEOHAZ KD X,
1) x2—mx+1>0 2) —x4+mx+2m<0

3) ax’+(a—Dx+a—1>0 4) x*—(m—1x+3>0

(5) x*—2mx+m+6>0

WOGMERMT-T X512, B m OEOFEAZED X,

1) R y=22+mx+112BNT, yDENRFHICETH D,

©2) Hmig y=22—2mx+3m—2 7 y<0 DI EE L2,

(3) B y=mal+4x4+m—312BVT, yDOENFHICATH S,
@) 2w y=x"+mx+212BVT, y DENFIZIETH D,

6) 2% y=mat+dx+m =3 12BWVT, y OEBEIZATHD,

My=x LT LE, B m OBEOHMHZ KD K,
Bhy=4x+3 LRRD 2/ TEDLD L E, EHm OED

B y=2%—3x4+m M
iR y=x%—3x+m
HPH % R X

iR y=x2—A4x+3 LIER y=2x+k BHETH L E, TR EOEEZRD L, £,
ZD L EDOBROREREERD K,
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